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df1
1 2
df2 27 4.2100 3.3541
28 4.1960 3.3404
402 3.8647 3.0182
403 3.8646 3.0181

t0.025(28)=-2.0484, t0.025(30)=-2.0422
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Pt 16-2
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R E %18 % #i H) ¥_th #ic R*
X, X,, X3 99.86%
X, X1, Xs 99.82%
X; X., X, 99.04%
F-d £ 135 % B #E e F)3 (variance inflation factor, VIF ) 2235 3%
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F = :6-4
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Y. =B, + B X, +¢, 1=1...n
i A20 A T AR Ry § T AL 25 - LR R
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OF#F P i £ ¥ & (outlier) {3 g # B % & (high leverage
observatlon) % ,‘xF’“mﬁz Bl o (84 )
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F= :6-5

%2
Obs | Residual | Student |Cook's D R- Hat Diag| Cov | DFFITS
Residual Student Ratio
H
1 0.541 0.443 0.011 0.438 0.101 1.173 0.147
2 0.906 0.718 0.009 0.712 0.035 1.070 0.136
3 -1.777  -1.410 0.041] -1.434 0.040 0.974| -0.293
4 0.390 0.308 0.002 0.304 0.033 1.097 0.056
5 -0.977, -0.772 0.010f -0.767 0.032 1.061 -0.140
6 -1.510 -1.194 0.024| -1.203 0.033 1.005] -0.222
7 1.490 1.179 0.024 1.186 0.033 1.007 0.219
8 -0.160; -0.127 0.000 -0.125 0.045 1.117 -0.027
9 1.023 0.809 0.011 0.804 0.032 1.057 0.147
10 -0.510; -0.403 0.003] -0.398 0.033 1.093] -0.073
11 1.957 1.563 0.067 1.602 0.052 0.956 0.374
12 0.157 0.125 0.000 0.123 0.052 1.125 0.029
13 1.023 0.809 0.011 0.804 0.032 1.057 0.147
14 0.556 0.444 0.005 0.438 0.050 1.110 0.101
15 -0.777) -0.614 0.006| -0.608 0.032 1.077) -0.111
16 -0.243)  -0.192 0.001] -0.189 0.030 1.099] -0.034
17 -2.043)  -1.632 0.073] -1.679 0.052 0.941] -0.392
18 -1.810| -1.458 0.078| -1.486 0.068 0.994| -0.402
19 0.140 0.110 0.000 0.109 0.031 1.101 0.019
20 2.356 1.944 0.236 2.041 0.111 0.926 0.721
21 0.623 0.522 0.022 0.516 0.141 1.221 0.209
22 0.490 0.388 0.003 0.382 0.033 1.093 0.071
23 0.790 0.627 0.008 0.620 0.039 1.083 0.125
24 -0.843]  -0.697 0.031 -0.691 0.114 1.168| -0.248
25 -0.810 -0.641 0.007] -0.635 0.033 1.075 -0.117
26 1.490 1.179 0.024 1.186 0.033 1.007 0.219
27 0.490 0.388 0.003 0.382 0.033 1.093 0.071
28 -3.545  -3.437 3.274| -4.299 0.357 0.636/| -3.200
29 0.089 0.073 0.000 0.072 0.086 1.168 0.022
30 0.257 0.203 0.001 0.200 0.030 1.098 0.035
31 -1.277)  -1.013 0.021 -1.014 0.040 1.040; -0.207
32 1.323 1.065 0.040 1.067 0.066 1.061 0.283
33 0.190 0.153 0.001 0.151 0.068 1.144 0.041
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B =x 16-6

o~ = AL A PTER X IR R E o ﬁ %T} 5‘7)3’5#’5;7%‘%?]7'31}5'?‘]%’5*
P B 4083* P M HE TG A B (X HEZHZ )
P B AT ot b e (Xo) > TP REE (Xo)» % BRF iR

(Xg) frig & (Xs) o 87 Jo PR 40T
B3I Y, = By + BuXyi + By Xoi + By X + By Xy + Bs X + &, 1=1...,n.
AR Y. = B, + B X+ B, X, + B X +&, 1=1...,n.
AR Y. = L, + B Xy + B Xoi + B, X+ B X +&, 1=1....n
i A 34 R el 2 B HCA] 0% R ios 47 2 (ANOVA, Analysis
of Variance ) 3g & kw & T B 4E o

%3  }41 ANOVA L

Response : Y DF Sum of Mean Fvalue P-value
squares square
Model 5 44260 8852.03227 134.46 <.0001
Error 402 26465 65.83443
Corrected Total 407 70726
#1272 ANOVA %
Response : Y DF Sum of Mean F value P-value
squares square
Model 3 41703 13901 193.50 <.0001
Error 404 29023 71.83833
Corrected Total 407 70726
#-7]3 ANOVA %
Response @ Y DF Sum of Mean Fvalue P-value
squares square
Model 4 41879 10470 146.27 <.0001
Error 403 28847 71.57982
Corrected Total 407 70726

Oy A1 T > R TAIF REE (X3) & RFERPHRLT
OGRS A1 a‘" oo A % J\«?a 0.05 # =_T 4xit 4 =
B~ T g2 8 s AR 2Rk o (84)
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